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Q.No: 1 Teaching process includes:                          : 

A The teacher        

B The pupil        

C The subject matter           

D All are correct                

 
 

Q.No: 2 
Teachers come across some students showing great 
curiosity and seriousness for learning in the class. Such 

children could be : 

          ई                                            
                                   ।                        : 

A Gifted           

B Showing artificial behavior                        

C Slow learner          

D Creating indisciplined Behaviour                    

 
 

Q.No: 3 'Heuristic Approach' is based on : '               '     प            : 

A Role memorization  ट       

B Home work          

C Spirit of curiosity                 

D None of these are correct                      

 
 

Q.No: 4 A good teacher is one who :. ए                     : 

A Explains Concepts and principles           औ                ट         

B Gives printed notes                    

C Inspires students to learn                                             

D Gives useful information                        



 
 

Q.No: 5 Which one of the following statement is correct in the 

context of multiple – choice questions? 

                              -    प                        
          : 

A 
They are more subjective than true – false type 

questions 
      -                                                   

B They are more Objective than true – false type 
questions 

      -                                                  

C They are less Objective than essay type questions       -                                                 

D They are more subjective than short answer type 
questions 

                                                         

 
 

Q.No: 6 Which of the following factors does not impact teaching 
: 

                                                    : 

A Class room activities that encourage learning                                                    

B Socio – economic back ground of teachers and 
students 

      औ                       -                

C Learning through experience                   

D Teacher’s knowledge             

 
 

Q.No: 7 Validity of research can be improved by :                                    : 

A 
Taking the true representative sample of the 
population 

                                      

B Eliminating Extraneous factors       ट                

C 
Taking the true representative sample of the 
population and Eliminating Extraneous factors 
Both 

                                                ट      
               

D None of these are correct                      

 
 

Q.No: 8 
A researcher is interested in studying the Prospects of a 
particular political party in an area. What tool should be 
prefer for the study ? 

ए                                 ए                    

                                 ।                   

 प                       ए ? 

A Schedule         

B Interview          

C Rating Scale               

D Questionnaire          

 
 



Q.No: 9 Which of the following is a non – probability sampling ?                           -                   ? 

A Simple random                

B Purposive         

C Systematic          

D Stratified        

 
 

Q.No: 10 Which is the main objective of research ?                         ? 

A To review of Literature                      

B To summarize what is already known                            

C To get an academic degree                         

D To discover new facts or to make new 
interpretation of known facts 

                                                      

 
 

Q.No: 11 The major Characteristic of experimental research is :                                      

A Formation of hypothesis                 

B Control of Problem              

C Control of variables           

D Experimental design                 

 
 

Q.No: 12 A variable is best defined as : ए                  प          : 

A Some thing which changes despite efforts to 
control it 

                                                        

B Any attribute which is influenced by experiment                                   

C Any measurable attribute of objects, thing or 
being 

     ,                                     

D Any attribute that creates hindrance in 
experiment 

                                 

 
 

Q.No: 13 

Most of the critics could not recognize the main 
strength of Premchand, the strength of purity of his 
conduct. There is complete balance in his 
Characterization and his conduct. The Whole Literature 

in his self expression , this simplicity shimmers in his 
innumerous Characters. He was brooded over the 
literary area by projecting amongst his hypothetical 
Characters. For him Literature is no more a different 
art from human conduct. The qualities like sympathy, 
forgiveness, love and sacrifice of good characters are 

 

                                     प              
              प          प    ,                 प       
          प              ।        प                
               ;       प             प                    
       ,  प         -        औ                            

   प    -                             प              प     



his own feelings. He has adopted the life style of his 
characters who directly brood over him by the 

piousness of conduct and effect his literary world. Only 
for that he cannot be treated as an impartial artist. He 

is associated and involved with his contemporary 
comman man all the time. His piousness makes his 
characters pioused. We associate with the life by 
conduct. The artist who created none of his character 

in whole of his literature who could never been 
physically huffed, could never been bitter and 
malicious even for a moment, the life consciousness of 
such artist will be the synonym of his high moral 
consciousness. He is an artist of values not of 
valuelessness because he is an architect of life. 
 

Which of the strength of the Premchand is 
Unrecognized by the Critics ? 

 ए    ।        ए                                   ।      

प           ,     ,     ,                         प   
               प   प                   ,     प           
प           प             औ                            

        ।           ए                                      
प    प    प               प                प          प    
   प                     ।                                   
  ।                प     प                      प          

                                   ,           औ          
                      ,                               
                  प          ,                       । 
                                      प     । 
 

                                                ई    ? 

A Characterization of human life              

B Involvement with life                

C Writer’s Impartiality         ट        

D Purity of conduct         

 
 

Q.No: 14 

Most of the critics could not recognize the main 
strength of Premchand, the strength of purity of his 

conduct. There is complete balance in his 
Characterization and his conduct. The Whole Literature 
in his self expression , this simplicity shimmers in his 
innumerous Characters. He was brooded over the 

literary area by projecting amongst his hypothetical 
Characters. For him Literature is no more a different 
art from human conduct. The qualities like sympathy, 
forgiveness, love and sacrifice of good characters are 
his own feelings. He has adopted the life style of his 
characters who directly brood over him by the 
piousness of conduct and effect his literary world. Only 

for that he cannot be treated as an impartial artist. He 
is associated and involved with his contemporary 
comman man all the time. His piousness makes his 
characters pioused. We associate with the life by 
conduct. The artist who created none of his character 

in whole of his literature who could never been 

physically huffed, could never been bitter and 
malicious even for a moment, the life consciousness of 
such artist will be the synonym of his high moral 
consciousness. He is an artist of values not of 
valuelessness because he is an architect of life. 
 
In Premchand's novels his self expression is 

Shimmered because : 

 

                                     प              
              प          प    ,                 प       
          प              ।        प                
               ;       प             प                    
       ,  प         -        औ                            

   प    -                             प              प     
 ए    ।        ए                                   ।      

प           ,     ,     ,                         प   
               प   प                   ,     प           
प           प             औ                            

        ।           ए                                      
प    प    प               प                प          प    
   प                     ।                                   
  ।                प     प                      प          

                                   ,           औ          
                      ,                               
                  प          ,                       । 
                                      प     । 
 

           प                                         
      

A 
Premchand takes the novels as the projection of 
life. 

       ,                               । 

B He is in favour of simple life                               । 



C His characters adopt his personality                                      । 

D His characters are personal, not of class.                                  । 

 
 

Q.No: 15 

Most of the critics could not recognize the main 
strength of Premchand, the strength of purity of his 
conduct. There is complete balance in his 
Characterization and his conduct. The Whole Literature 

in his self expression , this simplicity shimmers in his 
innumerous Characters. He was brooded over the 
literary area by projecting amongst his hypothetical 
Characters. For him Literature is no more a different 
art from human conduct. The qualities like sympathy, 
forgiveness, love and sacrifice of good characters are 

his own feelings. He has adopted the life style of his 

characters who directly brood over him by the 
piousness of conduct and effect his literary world. Only 
for that he cannot be treated as an impartial artist. He 
is associated and involved with his contemporary 
comman man all the time. His piousness makes his 
characters pioused. We associate with the life by 

conduct. The artist who created none of his character 
in whole of his literature who could never been 
physically huffed, could never been bitter and 
malicious even for a moment, the life consciousness of 
such artist will be the synonym of his high moral 
consciousness. He is an artist of values not of 
valuelessness because he is an architect of life. 

 
The principle related with are of Premchand was : 

 

                                     प              
              प          प    ,                 प       
          प              ।        प                
               ;       प             प                    
       ,  प         -        औ                            

   प    -                             प              प     
 ए    ।        ए                                   ।      

प           ,     ,     ,                         प   
               प   प                   ,     प           
प           प             औ                            

        ।           ए                                      
प    प    प               प                प          प    
   प                     ।                                   
  ।                प     प                      प          

                                   ,           औ          
                      ,                               
                  प          ,                       । 
                                      प     । 
 

                              - 

A Art for art sake    -           

B Art for entertainment                    

C Art for impartiality      ट            

D Art for morality                    

 
 

Q.No: 16 

Most of the critics could not recognize the main 
strength of Premchand, the strength of purity of his 

conduct. There is complete balance in his 
Characterization and his conduct. The Whole Literature 

in his self expression , this simplicity shimmers in his 
innumerous Characters. He was brooded over the 
literary area by projecting amongst his hypothetical 
Characters. For him Literature is no more a different 
art from human conduct. The qualities like sympathy, 
forgiveness, love and sacrifice of good characters are 

his own feelings. He has adopted the life style of his 
characters who directly brood over him by the 
piousness of conduct and effect his literary world. Only 
for that he cannot be treated as an impartial artist. He 
is associated and involved with his contemporary 
comman man all the time. His piousness makes his 
characters pioused. We associate with the life by 

conduct. The artist who created none of his character 

 

                                     प              
              प          ,                 प            

     प              ।        प                               
,       प             प                           ,  प   
      -        औ                               प    -
                             प              प      ए    । 
       ए                                   ।      प       
    ,     ,     ,                         प                 
 प   प                   ,     प           प           प  
           औ                                    ।      

     ए                                      प    प    प   
                 प       प                     ।            



in whole of his literature who could never been 
physically huffed, could never been bitter and 

malicious even for a moment, the life consciousness of 
such artist will be the synonym of his high moral 

consciousness. He is an artist of values not of 
valuelessness because he is an architect of life. 
 
Expression of self is shimmered in Premchand’s 

literature by : 

                                         प     प              
        प                                             ,     
      औ                                ,               
                                  प          ,             
          ।                                      प     । 
        प             '  '                     : 

A By characters                  

B By plots                   

C By dialogues                    

D By language style                       

 
 

Q.No: 17 

Most of the critics could not recognize the main 
strength of Premchand, the strength of purity of his 
conduct. There is complete balance in his 
Characterization and his conduct. The Whole Literature 
in his self expression , this simplicity shimmers in his 

innumerous Characters. He was brooded over the 
literary area by projecting amongst his hypothetical 
Characters. For him Literature is no more a different 
art from human conduct. The qualities like sympathy, 
forgiveness, love and sacrifice of good characters are 
his own feelings. He has adopted the life style of his 
characters who directly brood over him by the 

piousness of conduct and effect his literary world. Only 

for that he cannot be treated as an impartial artist. He 
is associated and involved with his contemporary 
comman man all the time. His piousness makes his 
characters pioused. We associate with the life by 
conduct. The artist who created none of his character 
in whole of his literature who could never been 

physically huffed, could never been bitter and 
malicious even for a moment, the life consciousness of 
such artist will be the synonym of his high moral 
consciousness. He is an artist of values not of 
valuelessness because he is an architect of life. 
 

Premchand can be treated as morality because : 

 

                                     प              
              प          प    ,                 प       
          प              ।        प                
               ;       प             प                    
       ,  प         -        औ                            

   प    -                             प              प     
 ए    ।        ए                                   ।      

प           ,     ,     ,                         प   
               प   प                   ,     प           
प           प             औ                            

        ।           ए                                      
प    प    प               प                प          प    
   प                     ।                                   
  ।                प     प                      प          

                                   ,           औ          
                      ,                               
                  प          ,                       । 
                                      प     । 
 

                                                  - 

A 
He emphasizes on self expression in his 

literature 
                                       । 

B He is a novelist of high moral consciousness                                       । 

C He gives importance to simplicity in life                                    । 

D He is the follower of conduct and culture.         औ                        । 

 
 

Q.No: 18 In listening it is essential to pay attention :           प                      ए 

A What is said                   



B On non – verbal            

C What is not said                     

D All are correct                

 
 

Q.No: 19 Biased listening is : प                

A Good for communication                     

B Barrier in communication                   

C Organized communication                  

D Two way process of communication                   

 
 

Q.No: 20 Positive gestures are body signals that make us look              -                                           

A Arrogant      

B Relaxed        

C Nervous      

D Aggressive      

 
 

Q.No: 21 
Which of the following is not barrier in communication 
? 

               ए                         ? 

A Noise     

B Ambiguous words     ट     

C Active listening          

D Reluctance of receiver                

 
 

Q.No: 22 
Information about effective communication comes 

from : 
                                        : 

A Sender         

B Medium          

C Receiver         

D Message          

 
 

Q.No: 23 Communication with oneself is known as :                              : 



A Group Communication             

B Grapevine Communication                 

C Interpersonal Communication                     

D Intrapersonal Communication    :                

 
 

Q.No: 24 
Fill up the question Mark (?) : 
4, 7, 11, 16, ? 

          (?)          : 
4, 7, 11, 16, ? 

A 18 18 

B 22 22 

C 20 20 

D 25 25 

 
 

Q.No: 25 
Which letter from the given options could be a part of 

the following set ?  
Z, W, R, O, J, G, – 

                  प                                      
   ? 

Z, W, R, O, J, G, – 

A A A 

B B B 

C C C 

D D D 

 
 

Q.No: 26 

Except for one, all sets of (letters and number’s ) given 
below have some similarity. Find out which one of the 

following is not appropriate ? 
C7E, F17H, I29K, L43N, O53Q, R67T 

ए      प         ,              (    औ         )    ए  

                 ।            ए               प             
? 

C7E, F17H, I29K, L43N, O53Q, R67T 

A C7E C7E 

B F17H F17H 

C R67T R67T 

D L43N L43N 

 
 

Q.No: 27 
If 'CLERK' word is coded as 'EOIWQ' then the code for 

'TABLE' is : 

    'CLERK'        'EOIWQ'                          
'TABLE'                     : 

A VCDNG VCDNG 

B VCDGH VCDGH 

C VDFQK VDFQK 

D VDFOK VDFOK 

 
 



Q.No: 28 

If  
HOSPITAL – 86179213, 
AIRPORT – 1997692, 

SCHOOL - 138663 is coded ? 

How 'TEMPLE' will be codified ; 

            
HOSPITAL -86179213 
AIRPORT -1997692 

SCHOOL -138663 

   TEMPLE             

A 254635 254635 

B 254375 254375 

C 257435 257435 

D 254735 254735 

 
 

Q.No: 29 

Arrange the words given below in as meaningful 
sequence 
1. Police 2. Punishment 3. Offence 4. Judge 5. 

Judgement 

                     प                ए : 
1-प    , 2-   , 3- प   , 4-  , 5-      

A 3, 1 ,4, 5, 2 3, 1 ,4, 5, 2 

B 1, 3, 4, 5, 2 1, 3, 4, 5, 2 

C 2, 5, 1, 3, 4 2, 5, 1, 3, 4 

D 2, 5, 4, 3, 1 2, 5, 4, 3, 1 

 
 

Q.No: 30 

Replace the '?' with the most appropriate number in 
the following set : 
1 2 3 
6 5 4 

7 8 9 
5 ? 5 

             प                     '?'         प   प        : 
1 2 3 
6 5 4  

7 8 9 

5 ? 5 

A 3 3 

B 5 5 

C 7 7 

D 9 9 

 
 

Q.No: 31 Find the odd pair of words :                        : 

A Beautiful : Pretty       :       

B Daring : Timid      :       

C Clarity : Ambiguity     ट   :      ट   

D Infant : Adult      :      

 
 

Q.No: 32 A is brother of B, C is daughter of B, D is sister of F, F 
is brother of C. Who is uncle of F ? 

ए ,         ई   ,   ,       प      ,   ,ए           , ए  ,      
  ई   ,    ए                ? 

A A   



B B    

C C    

D D    

 
 

Q.No: 33 

Three statements are given : 
Tanu is older than Ekjot. 
Cheenu is older than Tanu. 
Ekjot is older than Cheenu. 
If the first two statements are true, the third 

statement is : 

                       :  
   ,ए               । 
    ,              । ए     ,               ।  
    प                                 : 

A True     

B False     

C Uncertain         

D Insufficient data              

 
 

Q.No: 34 

Statement: 
I. All stars are sun. 
II. All satellites are sun. 

III. Some planet are satellites . 

Conclusion : 
a. some stars are satellites  
b. some sun are stars 
c. some sun are planet 

                  (I,II,III)                      (ए), (  ) 
    (  )                  ।            ए                   , 
                                           ? 

    . 

I                 ।  
II      प          । 
III         प     । 
       . 
(ए)           प     । 
(  )                 । 
(  )               । 

A Conclude only conclusion (a)             ( )           

B Conclude conclusion (b) and (c)        (  )     (  )           

C Conclude conclusion (a) and (c)        ( )     (  )           

D Conclude all conclusions                      

 
 

Q.No: 35 

Statement –  
I. Some politicians are Heros 
II. All Heros are ministers 
III. All ministers are Member of Parliament 

Conclusion -  
a. Some member of Parliament are ministers 
b. All Heros are member of Parliament 
c. All Member of Parliament are politician 

    . 

।                        ।  
॥                    । 
॥।                  ।  
       . 
(ए)                  ।  
(  )                     ।  
(  )                      । 



A Conclude conclusion (a) and (b)        ( )     (  )           

B Conclude conclusion (b) and (c)        (  )     (  )           

C Conclude all conclusions                      

D None of these are correct                   

 
 

Q.No: 36 
Which of the following one is the best answer of the 
statement ? 
Statement : Any person is your enemy if he : 

                                    ? 

    -   ई        प                 : 

A Always praise you                        । 

B Not live with you                      । 

C Not help you in case if you need money                                               । 

D Create difficult situation in bad time.                                       । 

 
 

Q.No: 37 

One Statement given below are followed by two 
hypothesis (I) and (II) supposing that statement is 
true. Which of the following hypothesis is logically 
concludes ? 
Statement – Raju is Shyam’s brother. 
Hypothesis –  
I. The age of Raju is twenty years. 

II. Shyam is smaller than Raju. 

          ए              प     प     प  ए          ई   ।    

        ए                                                  
       ? 

    :     ,           ई   ।  
प     प  ए  :  
I.             20       ।  
II.                     । 

A Conclude only (I) hypothesis                (I)                  । 

B Conclude only (II) hypothesis                (II)                  । 

C Both hypothesis are concluded                       । 

D Both hypothesis are not concluded                            । 

 
 

Q.No: 38 

Score of the students in two batches B1 and B2 are 
given below : 

B1 : 21, 25, 31, 41, 18, 28, 71 
B2 : 23, 19, 32, 46, 27, 65 

For the final evaluation, the two batches are merged 
and a 'central score' is obtained, where the central 
score has equal number of scores (observations) less 
than it and more than it. What percent of students in 
Batch 2 scored more than the 'central score' ? 

                       -1       -2                ए  ए   ? 

  -1 : 21, 25, 31, 41, 18, 28, 71 

  -2 : 23, 19, 32, 46, 27, 65 

   प                ए                       प  ए         

              ।                                           
   ए                                ।   -2                

                                           ? 

A 33% 33% 

B 50% 50% 

C 66% 66% 

D 75% 75% 



 
 

Q.No: 39 

During the survey an arrival and departure of 

employees in an office on a day, the following data 

was collected : 

 
Based on the survey, what punctuality level could be 
reported for the employees where punctuality refers to 
arrival or departure on time ? 

ए                            प           ए           
                    ए : 

 
 

                 प                   प                 
        ,           प                                  
                      ? 

A 46% 46% 

B 52% 52% 

C 65% 65% 

D 84% 84% 

 
 

Q.No: 40 

During the survey an arrival and departure of 
employees in an office on a day, the following data 
was collected : 

 
What was the average delay in the arrival of the 
employees on the day ? 

 

ए                            प           ए           
                    ए : 

 
 

                  प                 ए         औ              
   ? 

A 34 minutes 34    ट 

B 38 minutes 38    ट 

C Neither 34 nor 38 minutes      34    ट      38    ट 



D Data not adequate              

 
 

Q.No: 41 

In an office of 150 employees out of which only 10 
officials can play all the three games viz Cricket, 
Hockey and Football. 60 officials can play cricket, 50 

can play football and 40 can play Hockey. While 20 can 
play both Hockey and Football, 30 can play Cricket and 
Football 20 officials can play Hockey and Cricket. 
What are choice that if an employees picked up at 
random, he would be playing at the most one game ? 

                150              ।           10               
           -     ,                            । 60     
                 , 50                        40          

       ।      20                                           , 
30                                            । 20          
                     ।  
 

                                                        
          ए                ए                     ? 

A 10/15 10/15 

B 4/15 4/15 

C 6/15 6/15 

D Data not adequate                  

 
 

Q.No: 42 What would be the angle between the minute hand 
and the hour hand of clock at 16:20 hours ? 

              ई                                   16:20 

     ? 

A 0o 0o 

B 10o 10o 

C 5o 5o 

D 20o 20o 

 
 

Q.No: 43 The correct full form of HTML is : ए .  .ए .ए     प         प    : 

A High transfer machine Language                       

B High transmission Markup Language                           

C Hypertext Markup Language       ट   ट               

D Hyper transfer Markup Language                            

 
 

Q.No: 44 Which of the following term is not related with Internet 
? 

                   -   प                            । 

A Link      

B Function Key                

C Brower       

D Search Engine          



 
 

Q.No: 45 An Electronic meeting system is known as :                                  : 

A Tele – Banking ट   -      

B Tele – Officing ट   -        

C Tele – Shopping ट   -       

D Tele – Conferencing ट   -          

 
 

Q.No: 46 Computer Virus is a :   प                  ए  : 

A Hardware         

B Windows tool        ट   

C Computer Programme     ट        

D Pin     

 
 

Q.No: 47 Which of the following is true regarding e-mail address 
? 

                    ई-    ए                      ? 

A Domain name followed by user's name                             

B User's name followed by domain name                             

C User's name followed by Postal address                       ट       

D Domain name followed by street address                       ट      

 
 

Q.No: 48 The Correct full form of 'UPI' is : '  प  ई'        प     प    : 

A Unified Payment interface              ट   ट     

B Unified Programme interface                  ट     

C Unique Policy interaction                ट       

D Union Payment Interface            ट   ट     

 
 

Q.No: 49 What does 'APS' Stand for : 'ए प  ए '       प           : 

A Air Pollution System                 ट  

B Air Pollution Syndrome                    

C Air Pollution Strength                  

D Air Pollution Signal                   



 
 

Q.No: 50 The primary source of carbon monoxide is : '                 '                   : 

A Motor Vehicles   ट       

B Garbage      

C Haze      

D None of these are correct                 

 
 

Q.No: 51 
How much decibel of noise may rupture human ear 
drum ? 

                                              प      
                 ? 

A 90 – 100 90 – 100 

B 100 – 120 100 – 120 

C 120 – 140 120 – 140 

D 150 and above 150              

 
 

Q.No: 52 'World Population Day' Observed on : '                 '               : 

A 16 September 16        

B 25 January 25       

C 11 July 11       

D 7 April 7      

 
 

Q.No: 53 The 'Chernobyl' disaster was related to : '        '  प              : 

A Fire in Forest              

B Nuclear Reactor             ट     

C Chemical Plant                     

D Earth Quake          

 
 

Q.No: 54 Euro – II and Bharat stage IV are related with :      - II               - IV             : 

A Vehicle Emission Standard                   

B Power Plants          ट 

C Chemical Factories                

D Food Preservation                  



 
 

Q.No: 55 
In Which year the Distance Education council was set 

up in India? 
                   प                    प     ? 

A 1968 1968 

B 1985 1985 

C 1972 1972 

D 1992 1992 

 
 

Q.No: 56 
Which of the following one statement is correct about 
the National Assessment and Accreditation Council 
(NAAC) ? 

                ए         प     (NAAC)                    
       ए            ? 

A It is not an Autonomous Institution                             । 

B 
It is tasked with the responsibility of assessing 

and accrediting Institutions of Higher Education 
                                                              
                । 

C It is located in Delhi                    । 

D All are correct                

 
 

Q.No: 57 Open universities are treated as non- traditional 
universities because : 

                     प  प                     प          
  ए               : 

A Innovative method of teaching and learning are 
used in these universities 

                                                        

       । 

B 
Innovative method of admission, curriculum and 

evaluation are followed in these universities 
                       ,                                    
                  । 

C 
Modern communication technique are used in 

these universities 
                                                        । 

D All are correct             

 
 

Q.No: 58 Which of the following is not a central university ?                                          ? 

A Banaras Hindu University                         

B Kurukshetra University                    

C Delhi University                   

D Vishwabharti University                       

 
 

Q.No: 59 What is the objective of establishing 'HRDC' in India ?         'HRDC'       प                       ? 



A Training of only university teachers                                    

B Training of only college teachers                                   

C Training of both university and college teachers                                                   

D None of these are correct                     

 
 

Q.No: 60 the Head office of 'ICSSR' situated in : 'ICSSR'                    : 

A Bhopal       

B Indore       

C New Delhi          

D Mumbai        

 


